
Two-Digit Facts

67 x 1 = 34 x 1 =
67 x 0.1 = 34 x 0.1 =
67 x 0.01 = 34 x 0.01 =
67 x 0.001 = 34 x 0.001 =
67 x 0.0001 = 34 x 0.0001 =

19 x 1 = 15 x 1 =
19 x 0.1 = 15 x 0.1 =
19 x 0.01 = 15 x 0.01 =
19 x 0.001 = 15 x 0.001 =
19 x 0.0001 = 15 x 0.0001 =

70 x 1 = 93 x 1 =
70 x 0.1 = 93 x 0.1 =
70 x 0.01 = 93 x 0.01 =
70 x 0.001 = 93 x 0.001 =
70 x 0.0001 = 93 x 0.0001 =

92 x 1 = 76 x 1 =
92 x 0.1 = 76 x 0.1 =
92 x 0.01 = 76 x 0.01 =
92 x 0.001 = 76 x 0.001 =
92 x 0.0001 = 76 x 0.0001 =

25 x 1 = 572 x 1 =
25 x 0.1 = 572 x 0.1 =
25 x 0.01 = 572 x 0.01 =
25 x 0.001 = 572 x 0.001 =
25 x 0.0001 = 572 x 0.0001 =
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Two-Digit Facts

67 x 1 = 67 34 x 1 = 34

67 x 0.1 = 6.7 34 x 0.1 = 3.4

67 x 0.01 = 0.67 34 x 0.01 = 0.34

67 x 0.001 = 0.067 34 x 0.001 = 0.034

67 x 0.0001 = 0.0067 34 x 0.0001 = 0.0034

19 x 1 = 19 15 x 1 = 15

19 x 0.1 = 1.9 15 x 0.1 = 1.5

19 x 0.01 = 0.19 15 x 0.01 = 0.15

19 x 0.001 = 0.019 15 x 0.001 = 0.015

19 x 0.0001 = 0.0019 15 x 0.0001 = 0.0015

70 x 1 = 70 93 x 1 = 93

70 x 0.1 = 7 93 x 0.1 = 9.3

70 x 0.01 = 0.7 93 x 0.01 = 0.93

70 x 0.001 = 0.07 93 x 0.001 = 0.093

70 x 0.0001 = 0.007 93 x 0.0001 = 0.0093

92 x 1 = 92 76 x 1 = 76

92 x 0.1 = 9.2 76 x 0.1 = 7.6

92 x 0.01 = 0.92 76 x 0.01 = 0.76

92 x 0.001 = 0.092 76 x 0.001 = 0.076

92 x 0.0001 = 0.0092 76 x 0.0001 = 0.0076

25 x 1 = 25 572 x 1 = 572

25 x 0.1 = 2.5 572 x 0.1 = 57.2

25 x 0.01 = 0.25 572 x 0.01 = 5.72

25 x 0.001 = 0.025 572 x 0.001 = 0.572

25 x 0.0001 = 0.0025 572 x 0.0001 = 0.0572
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